Answers — VOLUME 2: STRESSES, STRAINS, DISPLACEMENTS
Chapter 6, Bar Subject to Torsion problem 6.20, page 476

Remarks: See 86.3, pages 426 till 445

ANSWErs:

la. I, =4x10° mm* (closed cross-section)

1b. 1, =8,53x10® mm* (open cross-section)

2a. |, =4,8x10° mm* (closed cross-section)
2b. 1,=18,67x10° mm* (open cross-section)

Explanation:
2a. A, =10x10° mm?
4x (10%x10% mm?)?
It=4x(10><103 mm?)? _ 4%10° Nmm =200 mm 200 mm
400 mm 4 mm 6 mm

4 mm 2b. 1, :%{(200 mm)(4 mm)* + (200 mm)(6 mm)3} =18,67x10° Nmm

1b. I, =1x (400 mm)(4 mm)® =8,53x10° Nmm

la. A, =10x10® mm?
= 4,8x10° Nmm

Last update: 10-11-07



